14

45 o)

Loas Ll— < .Arlswerg

Boo Ic (.Oe)p_,ig,
_ Bt

A

h 57" 2
Gx+) ns =
(-53;1']) =

B =

b
b
lnb
tns
Lok -

ns
3xr = O©- 1133

xr = O-0378 to 4 d!g

Bock ok
LDSQ 3 + 2 'ojq’ 456 - Q(—Dﬂa Lg

loga3b + LO?O 256" - chc,
= Loca3é + lega 6 — Coga L8>
= Loja 36 % 16)




wo) @)

B (ol k. Ldork

b) [033?: 1 loga (;51‘“*) = ai"ja(a"“a)

4 (_osaxfsx-m)

:x(Sx-Hf

= Lgme=p)
0

O = 3x*-i4x +8

O =(3x - 2)(x-
either
3x-2=0 orf
x =2/
Baf‘x'7‘f‘/3
S
%= (nll
«h3 = (nll
s = W3]
n3
x = 193 bt 3 dy.
61) o) book loork
b) G) ] 7
[n 3zx-t = (ﬂ“
@JC‘I) i3 = (all
2x-1 = 111
3
2 = Aig3 + |
2x = A-ig3R
= [-091 fo

Gi) 2 loga b + loga 6 - alegq 12

Loga 16 + loga b ~ (oga 12
Loga(éf(— X b )
12

Logq a2

-—

(o a (3:{ —z@"‘

L=

2¢C ?Q‘Lé

3x Hhx™ = Ax*-20x +1b
bx*-abx + i6

%)
x =l

]

x =l



